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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(iii)

(iv)

v)

(vi)
(vii)

97 T 6 — 10 T F9% 97 2 371 &7 8 | 37 71 &7 Fe9% I 40 V5] @ 3718
787 &1 T3 |

J97 G711 — 16 7% F9% 97 4 371 H71 8 | 37 J97] BT Fed% IR 100 J1s51 G 37145
781 EHHT =11ET |

97 G117 @21 T &% J97 5 361 7 & | 57 Fo71 1 F&% I 150 ¥155) & 3718
78] &1 T3 |

97 GEIT 21 T R STERT F97 8 | 37T IR 3771 I -Jiiehl 7 17T |

97 GEIT22 T 27 T JAP T97 6 3HH] BT & | 57 F971 &1 Fedeh I 150 I155] T 3718
78] &1 FeY |

General Instructions :

(i)
(ii)

(iii)
(iv)
v)

(vi)

(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions
should not exceed 150 words each.

1. 19719, st g1’ o1 Ar fopeq fean st ¢

In 1971, who gave the slogan ‘Garibi Hatao’ (remove poverty) and why ?

2. S FTEICHI h TSRl % U8l T IS Tk IUFeh e ST |

Give any one suitable argument to support the need of popular movements.

3. 2014 o T 997 A § YA a1 91l (ATS1a1) 6ht Jherdr & foru, 3mdes foem |
S HT B T &Y 8 IR 8 ?

In your opinion, which is the major factor responsible for the success of Bharatiya
Janata Party (BJP) in 2014 Lok Sabha Elections ?
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31 TG o G BIE TSAT 1 Tohell Teh HETITh o H12 T TG I h1g Teh BRI [1RET | 1

State any one reason for the smaller states to remain tied to any one super power
during the Cold War period.

ffeTRad o & o |1 HYA 75 fova ewer F AT EH h IR dA 7 ¢ 1
A, FHod T IATHHT hleh hesll hid o T, Ik h1 Teh ITth &I H IHET |
HifoRrd ¥ 1 “WHISETG 1 AR TS |
C. fid Jg o SR orell ot o T TYh U T FcT SN hich hoid bl Yk Hia
footer |
D. ifaya &g o faeed |

Which one of the following statements is true about the beginning of the ‘new world
order’ ?

A. Emerging of Iraq as a power after it invaded and occupied Kuwait.
B.  Weakening of socialism in the U.S.S.R.

C. The decision of the UN to get Kuwait liberated by force after years of deadlock
during the Cold War.

D. Disintegration of the Soviet Union.

T Yo § TEfIq fehal =R <2l o 9™ fefgu | 4xY%=2

Name any four countries related to Warsaw Pact.

Jeeientur o Tohegl I i wwTa <Rl TiETT hiIfTT | 2x1=2

Examine any two major impacts of globalisation.

wRITereT <ht fert <6 forser Srfershier <um <At fora o1 & SR R s T E ? 2

Why have issues of environmental concern become a major cause of worry for most
of the States ?

T fxuerar shi ifd 7, T g1 ikl @ Wi i et febam ? 2x1=2

In which two ways did the policy of Non-alignment benefit India ?
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10.

11.

12.

13.

14.

15.

T <A’ o AT QU T 13T 61 F B W U Tw verifes gt @ wet e shifr

4x%=2
gl - A gl - B

a. H. TS i YR S

b. T Y@ @S ii. §®RgHR Al

c. N Tg @ iii. TEd aret

d. T, MU iv. wfrfere urdl

Match correctly the leaders given in List ‘A’ with the political parties given in
List ‘B’ :

List— A List— B
a.  C.Rajagopalachari 1. Bharatiya Jana Sangh
b.  Shyama Prasad Mukherjee ii.  The Communist Party
c.  Acharya Narender Dev iii. Swatantra Party
d. A Gopalan iv.  Socialist Party

T ! T T FAERT 5 A1 B1qul Tyl =il W@ IMMET 7 15 IR HRUT Tohl T
I | 4x1=4

Why should India have friendly relations with the U.S. ? Explain any four reasons.

afcra e 1 fopgl QI afarfer 6t s i | 2x2=4

Explain any two activities of the Dalit Panthers.

1947 B gT RA o fawrs o feregl = afcormi sht aoia Hifaw | 4x1=4

Describe any four consequences of the partition of India in 1947.

I TYh TP ST IE AU e &l 8rar, a1 36 FrTiaa qioms @ gid 7 fohedi
<1 foigaTi <hl =T shifaT | 2x2=4

If there had not been any international organization like the United Nations, what
would have been the possible consequences ? Explain any two points.

W <h1 TCATY] Aifd T Feamehd sHIfTT | 4

Evaluate the nuclear policy of India.
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16. RA H TSa9H shi FThHR T Aqca i ATt foheal IR LA o I Hied 3eh! wrfea
o = ot ferfa | 4x1=4

Name any four Prime Ministers along with their political parties who have led

coalition governments in India.

17. T=faRed staawr =t = 9 ufew 3t = feu 7u yeai & 3w fafaw 1+2+2=5

ToTd HHATET o TEY § T -ad THT T GiHfd 3 3o7d ST 6 Tyeard! ggdrd
T HATEdH 61 | FE 3R T T TS I b T T ST T bl ooht THR T gaTa
M o foTU gSaTet 1 I8 3MEA fohaT T AT | AR 39 | o Raets off | v o 9ra
% T 9 HESl-eh ITH % HEAN, TS 1974 T FaTel W =] T | 179 HAATT i
FSATA § ASIGU o STEATY ol SeTal el | 36 geaTet & WGl o SRR S8 7Ee a1 30
&, 98 "ara ot 337 TR 3Trawesh qansti ¥ S8 §U HHAR U WA i ook gl
Hehd & A1 TE |

(a) 1974 T 5% {79 TSATS I Acd i el a1 &1 419 T |
(b) HTHR ESdTel HATNET shl gedTel & foeg 1 off ? IS & ot Tam FHIfu |

(c) o1 I HATA § IS ASGU IR FHHATNAT I FSATA HA hl AN B
T 7 370 I b U8 H IUYh doh GIT |

Read the following passage carefully and answer the questions that follow :

A call for nationwide strike was given by all employees of the Railways for pressing
their demands related to bonus and service conditions. The government was opposed
to these demands. So, the employees of India’s largest public sector undertaking went
on a strike in May 1974. The strike by the Railway employees added to the
atmosphere of labour unrest. It also raised the issues like rights of the workers and

whether employees of essential services should adopt measures like strikes.
(a) Name the leader who led the Railway strike in 1974.

(b) Why was the Government of India opposed to the Railway strike ? Explain any

two reasons.

(c) Should the workers and employees of essential services be allowed to go on

strike ? Support your answer with a suitable argument.
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18. T=fafgd staawer 1 s 9 ufew 37t = feu e y9ai = 3w fafaw 1+2+2=5

“fopelt it TETS H % TG BId & | IIh! HATHIATY STHEL 3T 3TN 3TN Th &L
fomdia &t € | T8 71 37 ST cohet § Y five gehd € 7 e FaTe @ e -
ATt Toif |7 o 3R wfeeret Tifa 6 & ged wamer sfex <6t & | e,
Torfiferen fafafyr o1 SEwd SR 1 HET BT SR 3T W A HEAT BT 2 S Y
BT 4t S1TRT | G AT 3 ST T shl T ohT et foram |

(a) W T & U@ fopf & wugl <ht gt et Srrehiead terT 3tet Wy Uk
T famdia 2 |

(b) ‘A TaHIfd foraTel sl Gorg & foTu 3 ey ygM ol 8 | 30 S I
&g = o TTY 18 T 3greew ST |

(c) IGHM YRd G99 ThR o Tl gl it ot vg=am SHifse St sHfga A 8 |

Read the passage given below and answer the questions that follow :

There are different groups with different and conflicting aspirations. How do we
resolve these differences ? Democratic politics is an answer to this question. While
competition and power are the two most visible things about politics, the purpose of
political activity is and should be deciding and pursuing public interest. This is the

route our leaders decided to take.

(a) Identify any two groups from Indian society which have different aspirations
but opposite to each other.

(b) Give any one example to prove that democratic politics provides alternatives to
resolve the conflicts.

(¢) Identify any two decisions taken by the present Union Government of India
which are in public interest.
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19. fr=fafad sreawo s e @ ufgw 3t Fi=r few e s & 3 ferfla - 1+2+2=5
2t weTTTRAT farva 3 fafi feel T T T 6t g e % forw qeft g off | g
Tl TSI < o= 95 T8 ®9 9 ¢ 7% off | WH ° e Hooh o fotu weh T A ot 76 97
O GRET o ToTe fopell Uk weTmIfeh o |1y 81 T8 3R qHll HETsIith qei 38eh T o o1l
% TTd T & Tk |

(a) 379 TS & 1 Torqd A <hl 3o T TETIRRRal st 8= i |
(b) &l HereRRet o st ferve o1 TqE Seam =il g3 2
(c) T TISHYAT o T, WA o IMMHA 7 I o Gl TE&I HRUI ! TIT HIFT |

Read the passage given below carefully and answer the questions that follow :

The two super powers were keen on expanding their spheres of influence in different
parts of the world. In a world sharply divided between the two alliance systems, a
state was supposed to remain tied to its protective super-power to limit the influence

of the other super-power and its allies.
(a) Identify the two super-powers that were keen to expand their area of influence.
(b)  Why was there a sharp division of the world between the two super-powers ?

(c) Explain the two main reasons for India’s not joining any of the two alliance

systems.

20.

S TEU MU SHIE 1 SAHYES HEH hHife g ffeRad s IR : 1+2+2=5
() S FEIfrE A TmRa s

(i) & 3 ‘T’ & g 38 < <ht iep Hifa 1 12 g 3T = iy |

(i) <PTEA H TMT TTC GG 3 5 <1 T STAITEAT i HH AT Tg=RT ?
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Study the Cartoon given above carefully and answer the following questions :

(1)

Both the Cartoons are related to which country ?

(1)) Bring out any two differences in the economic policy of this country between

‘then’ and ‘now’.

(i11) How has the change shown in the Cartoon benefitted the economy of this country ?

e :  frfafaa ye e givanfea e & fore we 9@ 20 % WH W E

59/1/2

20.1

20.2

20.3

TS’ I ARG HITT |

R 2

TIH TSI T < 38 UL 1 AW TeAfae - vgt @il 3¢ § fos™
ITH <hI 2t |

T8 21 <t % A faRay s faeg s/t 7 1ot &= wiike &1y foen

Note : The following questions are for the visually impaired candidates only in lieu

of Question No. 20

20.1

20.2

20.3

Name the President of the United States w
War.

Define Hegemony.

ho had won the First Gulf

Name any two countries against which the U.S. used its military power

and why ?
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feu e v o Y@r-wEfE 8 e = @ (A), B), (©), (D) 3 (E) g fafa foam mn

2 | M < T8 AR % MY W, $ U= 3T 319 ITH-YfEqent | 3 Hal A1,

TR hT TS STehI <hl SHH ERET qT Hraf-ard 3787 hl &1 T8 dliolehl & &I H feAfgu: 5x 1=5

TR hl TS THHRT <ht ohH T Trafre 3ER TS &1 A
(i)
(i)
(iif)
(iv)
v)

(i) I8 TST YRA I TgeAT TS AT &l 1957 H Uged! T-hTUH! TLehR &1 |

(i) I8 T ST HEHRI G TNE 1 7 T 2 |

(iii) 3T WA o 39 TST 1 1947 H TIaTe o T8, WA 3T UTThEdT b s SiieT T o7 |

(iv) 38 TSI I 31TSE 370 °h ITaTa [0S gofl Je Fehat 7w o |

(v) T&TST 1987 B TIiSd g3 o7 |
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In the given political outline map of India, five states have been marked as @, ,

@, @ and @ Identify these states with the help of information given below and

write their correct names in your answer book along with the serial number of the
information used and the related alphabet as per the following table.

Serial No. of the Related Alphabet
information used

Name of the
State

(1)

(i1)
(iii)
(iv)

(v)

59/1/2

(1)  This state was the first in India where a Non-Congress government was formed

in 1957.

(i) This state is the birth place of Amul Dairy Co-operative.
(ii1)) This Northern State was divided between India and Pakistan at the time of

partition in 1947.

(iv) This State was given a special status under Article 370.

(v) This State was formed in 1987.
10



Note

22.

frafarfaa wem haet gfvafem ahafi o foe, o7 g@ 21 SR W E
1+1+2+1=5

21.1 M 91 TST I T O 37T Shieh ST 7T AT ?

21.2 T9Ad WA o fohd TSI H, U8 TR-h0et Gthr -1 off 7

213 Taftwyra s a Qg o o T 9, T8 1947 § fove= & oo W 31R
uTfehEaT b o= favreh femarm o o it 2
214 Tl § Ugd, fore Tt et 3 ey o faga feam o 2
: The following questions are for the visually impaired candidates only in lieu
of Question No. 21 :
21.1  Which State was carved out of Uttar Pradesh ?
21.2  Which State of free India had the first Non-Congress government ?

21.3  Which two states of British India were bifurcated between India and
Pakistan at the time of partition in 1947 and why ?

21.4  Which political party gave the ‘Two Nation Theory’ before
independence ?

1975 T TFT JATATAhTA ENN Hid o bl IR RN o1 fargeryur SHifre | 37maes foam &

390 W I T BRI FRFETA 8 7 4x1% =6
YT

1969 T g Tl & faurer o foru Saierit foregl = it o1 fagemur hifsle | 3x2=6

Analyse any four reasons for the declaration of National Emergency in 1975. In your
opinion, which reasons are justified ?

OR
Analyse any three factors responsible for the split of the Congress Party in 1969.

23. UFIEh 3R TR-ITRaieh GUatT < 9 his diF 3o 98 HifT | 3x2=6

59/1/2

YAl
G TR T Y shl HETEHT H WA T AT ST 1 ST e, T 3179 e TP
I GreaT uieg | WRA <hl AR Tl o folt b & fiH J&7 b ol 7 THesy |
Explain any three differences between traditional and non-traditional security.

OR

If you are given a chance to represent India in the U.N. General Assembly, which
three main arguments would you give to support India’s candidature for the
permanent membership of the U.N. Security Council ? Explain.

11 [P.T.O.



24, 39k fo=m #, e fue Stidie o1« foha € qe STTEfies &1 TR g ? 379 IW h
TH | Toh TEd HIT | 6
e
WIS U I 39T geed (8 wifora @ i forees | s=m 511 wehar o | 3x2=6

In your opinion, how far has Non-Aligned Movement (NAM) become irrelevant
today ? Give reasons to support your answer.

OR

Suggest any three measures which could have saved the Soviet Union from
disintegration.

25. I <hl T&TT o feTu YR TR g0 3311 U fohrdl IR shemi s au hifslt | 4 x 1% =6
I CH
JefiehtuT o JTcRIE <l Tieht T o WS o1 JUM I | 6

Describe any four steps to protect the environment taken by Government of India.
OR
Describe India’s experience in resisting globalisation.

26. < I TEHR GRI 33T TN, feohedl <fiF T heHl ht e hifve, fa =i+t sreferawen
1 I F3 | 3x2=6
AT
UTfeREaT § ST o S1G |, T&T 9L TAT 3T ARha= <hl YfirehT shi T7E HIfTT | 3+3=6

Explain any three major steps taken by the Chinese government which led to the rise
of the Chinese economy.

OR
Explain the role of military and democracy in Pakistan since its independence.

27. gl Tttt SgIe g0 331 T fehel IR HEl 1 Ui HITT | $6 STGIe 1 Higet-
TG 1 hal ST 8 7 4+2=6
YA
A foham I o Aqca H 5T STare i fohmal = fariwanati =1 9o HIfT 14 x 1% =6
Describe any four issues raised by the Anti-Arrack Movement. Why is this movement
called a women’s movement ?
OR

Describe any four features of the movement led by Bharatiya Kissan Union.
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